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‘ v Answer any five questions

All guestions carry equal marks "

L State and explam ‘Law of Demand’ Why does demand cunve slope downward 1o nght‘?
What are the exceptions to the law of demand? - [15]

2 ~ Why is ‘Demand Forecast’ needed by an organization? Explam how opm1onrcoilect10n
-~ methods can be-adopted 6t forecasting. T o [15]

L

3.2). Whatare assumptions for applying break even theory') '
. b}, From the following data, Iculate (i) P/V ratio (ii) Profit when sa,les are Rs. 20,000
- and (iii) New Breakeven poij eg arc reduced by 10%. ' :
Fixed Expenses
Breakeven point

! . [6+9]

4.2) How can pricing dec taken under condmons of monopoly‘7

. b) 7 What differences can yotipoiit-out be fWeemmonopoly and perfect competltmn‘? [7+8] -

: environment :
b) Explain diffes

6.  Prepare final aézgz ollowmg of Mr. Arthur FOI the year 31 12—2014

Name of the ac: Dr. Rs. . _ Cr. Rs.
Arthur drawings 2 10550 1,19,400
Bills receivable T 9500 b B

Plant and machinery 28800 ' s
Debtors and Creditors 62,000 - 59,630
Wages (Max;ufactunng) : 40,970 ..
Returns inwards : 2,780 . '
Purchases and Sales _ 2,56,590 3,56,430
Rent and taxes ' , 5,620
Stock on 1%5an. 1975% i £9,680

| Salarjes ' 11,000

| Travelling expenses ) 1,880
Insurance ..and  Gommission L 400 .- ] 5,640
| received ' o N B

| Cash . L 3,900
Bank ) 18,970 :
Loan at 6% T T ERE 20,000
Interest on loan . 1,000 ' :
Interest and discount - 4,870 ‘ .

Bﬂd debts s G 7 T 3*56?‘0 3 arin [N

Fixtures and fittings ) 8,970 - -

0b1{§,1 g working capital by an orgamzatlon [6+9]




-

~a) Current Ratio 2.5

' Write short notes on:

_ .#b) Present value of money o
i 'tc) Peak-load pricing.

The following adjustments are to be made:

a) Stock-in-trade in hand on December31, 201?-1-‘ Rs.1,28,960.
b) Write off Rs.500 as bad debts, and create a provision of 5% on debtors.

c) Qutstanding wages are Rs.1,200.

d) Depreciate miichinery by 5% and fixtures andfittings by 10%.
. €) Commission not earned but received amounted to Rs.600.

us)

From the following mformauon make out a, Statement of propnetor s funds with as -

_many details as p0381blc )

b) Liquid Ratio 1.5

¢) Proprietary Ratio ( Fixed Assets/Proprietary:Eunds) 0.75
d) Working Capital Rs. I, 20,000 '

e) Reserves and Surplus Rs. 80,000

f) Bank. Over Draft . Rs. 20,000

£) There are no’ 1ong term loans and fictitious assets
+

of demand and its. measurement

a) Cross clasticity
futuré‘@ 1sh ﬂows

[5+5+5]
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